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ENGLISH VERSION

Instructions :(1) Attempt all questions.

(2) Figures on right side indicate marks.

1 The Mit Constructions Company signed a contract for building20

construction and the details of the contract are as follows:

Contract price is fixed at ` 30,00,000.

Particulars 2021 (̀ ) 2022 (̀ )

Direct Materials 9,00,000 2,52,000

Direct Wages 6,90,000 3,15,000

Direct Expenses 66,000 30,000

Indirect Expenses 18,000 4,200

Work Certified 22,50,000 30,00,000

Work Uncertified 24,000 -

Materials at Site 15,000 21,000

Plant Issued 42,000 6,000

Cash Received from contractee 18,00,000 30,00,000

Closing Plant 21,000 15,000

Prepare :

(1) Contract A/c for the year 2021 and 2022.

(2) Contractee A/c for two years 2021 and 2022.

(3) Profit will be transferred to profit and loss A/c as per 2/3

cash basis.

OR
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1 Kiran took a contract to build a building at contract price of20
st ̀12,00,000. He started to work on 1 April, 2021. From the

following details, prepare Contract Account for the year ended
st31  march, 2022.

Particulars `

Materials issued on contract...........................................4,87,500

Plant-Machinery issued on contract (1-4-2021)............1,20,000

Wages...............................................................................2,55,000

Direct Expenses..................................................................60,000

Indirect Expenses................................................................14,700

Materials at Site..................................................................12,900

Cash Received (75% of work certified).........................7,20,000

From the plants and materials issued to the Contract Account.

Plants worth ` 9,000 and materials worth  ̀10,500 were destroyed

in accident. Plants worth ` 21,000 was returned in stores on
st31  March, 2022. Value of work uncertified was ` 40,500. Due

but unpaid wages was  ̀12,300 on 31-3-2022. Calculate 10%
depreciation on plants. 2/3 profit on cash basis be transferred to
Profit and Loss Account.

2 In M. B. Thakkar Co. the following particulars have been20
stextracted for the quarter ended 31 March, 2022.

Particulars Production Dept. Service Dept.

A B C X Y

Direct Wages (`) 10,000 15,000 20,000 5,00010,000

Direct Materials ()̀ 5,000 10,000 10,000 7,500 7,500

No. of Employee's2,000 3,000 3,000 1,000 1,000

Electricity (kwh)8,000 6,000 4,000 2,000 2,000

Value of Assets ()̀ 90,000 60,000 45,000 15,00015,000

Light Points 10 16 4 6 4

Area (sq. mtrs.) 150 250 50 50 50

The expenses for the period were :

(1) Power...........................1,100 ̀ (5)Stores Overheads......800 ̀
(2) Lighting...........................200 ` (6)Staff Welfare..........3,000 ̀
(3) Depreciation..............30,000 ` (7)Repairs...................6,000 ̀
(4) General Overheads....12,000 ` (8)Rent and Taxes..........550 ̀
Apportion the expenses of department 'Y' according to direct wages

and those of department 'X' in the ratio of 5 :3 :2 to the production
departments. Distribute the expenses in each production department.

OR
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2 Pavitra Electricals Co. Ltd. has three manufacuring departments20
and one service department 'A'. The following figures are available
for one month of 25 working days of 8 hours each. All these
departments work for all the days with full attendance. Calculate

Labour Hour Rate for departments X, Y and Z.

Expenditures Total(`) A (`) X (`) Y (`) Z (`)

Power 2,200 480 400 600 720

Supervisor's salary 4,000 - - - -

Rent 2,000 - - - -

Welfare exps. 1,200 - - - -

Other exps. 2,400 400 400 800 800

11,800

Supervisor's salary 20% 30% 30% 20%

Number of workers 10 30 40 20

Floor area (in sq. ft.) 1,000 1,200 1,6001,200
Services rendered by

  service department - 50% 30% 20%

3 (A) Denil Ltd. uses different types of materials A, B, C and D10

in respect of which following information is available.

Find out :

(1) Minimum Level of Materials 'A'

(2) Maximum Level of Materials 'B'

(3) Safety Stock of Materials 'C'

(4) Ordering Level of Materials 'D'

Particulars A B C D

(1) Delivery time (weeks)6 to8 8 to10 12 to14 14 to16
(2) Average weekly

   Consumption (units)? 80 140 500
(3) Maximum weekly

   Consumption (units)110 90 ? ?
(4) Minimum weekly

   Consumption (units)90 ? 80 400

(5) Ordering Level (units)- 100 - 200
(B) Calculate EOQ. 5

Annual Consumption........................................45,000 units
Per unit price................................................................10 ̀

Per unit insurance exp...............................................0.90 ̀
Per unit interest exp..................................................0.30 ̀
Per unit storage expenses..........................................0.30 ̀
Ordering cost per order................................................10 ̀

OR
HAM-16080001030400 ] 7 [ Contd...



3 From the following information calculate : 15

(1) Economic Order Quanity (EOQ)(2) Re-order Level

(3) Maximum Level (4) Minimum Level

(5) Average Stock Level (on the basis of EOQ)

(6) Safety Stock Level
(1) Annually demand of the product.............9,000 (units)

(2) Cost of placing an order....................................200 ̀

(3) Annual carrying cost per unit...............................10 ̀

(4) Average usage..............................750 units per month
(5) Minimum usage...........................450 units per month

(6) Re-order period....................................1 to 5 months

4 (A) From the records of Shilpan Ltd. following details are10
available for December, 2021.
(1) No. of workers at beginning of month..................700

(2) No. of workers at the end of month......................500
(3) No. of employees relieved.......................................18

(4) No. of employees retired.........................................02

(5) No. of employees resigned......................................04

(6) No. of employees appointed on existing post.........12
(7) No. of employees newly appointed due to

   expansion programme...........................................70

Calculate labour turnover rate by various methods.
(B) Caclulate total earning under Halsey plan and Rowan5

premium plan.
Time saved 25% of time allowed

Time taken 15 hours, Rate per hour ` 30
OR

4 (A) A worker has been allowed to complete a work in 24 hours,10

but he completes the work in 18 hours. Labour rate per hour

is ̀  20. If cost of material is  ̀160 and factory overheads
are 150% of direct labour, then find out factory cost as per
following methods :

(1) Halsey Premium Plan (2) Rowan Premium Plan (3) Piece
Rate System

(B) The following information has been obtained from the5
production depeartment of a factory :

st(1) Workers as on 1 January...........................................3040

(2) Number of workers who left factory in January...........640

(3) Total appointment made in January................................800

(including under expansion scheme 300 workers)
Calculate the labour turnover rate by joint method.

____________
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